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Suppose that Player 1’s pure strategy involves playing A at his left information set. 
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EXAMPLE 1: Selten’s  Chain-Store Game   

The one-shot game is as follows: 

fight accommodate

In 0 , 0 2 , 2

Out 1 , 5 1 , 5

Potential
entrant

Chain store

 

What is the backward induction solution to this game? The case m = 2:  
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Add incomplete information 

If the incumbent is of type b (rational):        0 
  entrant  
  in out 

incumbent aggressive   ,  0 5  ,  1 
 cooperative 1.5  ,  1.5 5  ,  1 

 

If the incumbent is of type a (fanatic):        2 
  entrant  
  in out 

incumbent aggressive   ,  0 5  ,  1 
 cooperative 1.5  ,  1.5 5  ,  1 

 

 

Incumbent:   a b   
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PE-2:  1 1
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Payoffs are as follows: Top: PE-1,  Middle: Incumbent,  Bottom: PE-2. 
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